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TO THE STUDENE

This evaluation test is divided intc tws scetions
Section A contains 1% guestions that regquirc you to zo to
a specific laboratory secag, perform a é%ék and thea record
an éantwer on the space provicded in the apnswer shect or re-
spond to 2 multiple choice question. Be careful you merk
the muliiple choice response against the vight guestion
nuinber on your answer sheets Section B contains 28 multiple
and othcr types of guestions., If yeu skip & gucetion to
return later remmcber to skip that question number oa the
answey dhcet s well., All questions in both socticad erve
numbered consccuvively starting with 1 end continuing upto

X 4924

Do not write in this cyclosiyled booklet.

Sample gQuestion Sample Andyey
33+ Two plus two equals 33, $a) (o) () (&)
a) One [::1 [::] [::] EZ%Z
b) Two
¢c) Three
d) PFour
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Q.1.

‘- e

Qelte

Q'50

Qe6.

Qe7,

PARy = A
%4%6
Go to seut 1 and ex»uine the colour of the gas in the
gas Jar, Tick the correct alternative,

(a] Brown Red {(b) voilet (¢) Greenish Yellow
(@) Colourless.

Go to seat 2 and examine the colour of the gas in the
gas jar. Tick the correct eiternutive.

(a) Rotten eg:s (b) Rungent (c) Odourless
(d) Burning. Sulphur.

Go to seat 3 and exfmine the three salts (labelled I,II,IXX)
provided. fhe salts mey be rankeed 8ccordin: to their crystal
size with the smalliest crystal placed first., Tick the correct
arrangeaent ?

(8) I, 1T IIX (b) 1I, 111, I

(¢) IXX, I, XX (a) 11, I, 11X

Go to seat 4 apd and pick up one of the glass tubes
ané bend it ot 90° at the centre.

Go to seuat 5 and pick up one of the corks and drill a
hole ia it by the help of & crok horxer.

Go to seat 6 &nd fit up & wibu botvie, you are provided with
a flat bottom flask, & cerk with two holes, a glass tubing
bent ati 135°, & glass tubing bent at 45° nuving & negzzle at

2

one end, Before leiving theﬁgat disisintle the wash bottle

Examins the picture of the assembled luboratory eguipment

Quﬂtﬂaiaié- Now go to seat 7 end eximine the actanl assembly

The «ssembly is set up.

o



(2)
(v)
(=)
(a)

Q.8.

Qe

Q.io.

Qedie

Q.12.

Correctly.

4%7

Incorrectly at I,

Incorrectly &t IIX,

Incorrectly 2t I & II.

Go to scat 8 and exumine a boiling tube fitted with
¢ ¢ork and two glass tubings. Identify the leak in
the assembled apparatus with the help of a gas jar

L£all of water.

Go to seat 9 and exumine the graduated cylinder )
containing coloured water. The volume of the colouved
Ssolution isi-

(a) 12.8 ml {b) 13.2. ml-

(b)  12.3. ml (@) 13.1. ml.

Ga@ to seat 10 and determine the weight of the okject
providzd. Record the weight at the bottom of the answer

shest “ztinst item 10,

NOLE' ¢ Before leaving the seat, return all weights
to the welight box @nd bring the cuewical balance
’ o the yesting position,

GO t0 seat 11 and exawine t.e four laboreiory equipments
muyked { Je=--IV) provided whieh prece of equipment is
round botiomed flask, Tick the correct alternativa.

() I (&) 11 {¢) 11X (d) v

Go the seat 12 and find 2 piece of wnlie gapce ou waich
a straight line is drawn. I[Heasure the lengih of the xﬁig
straight line with the help of a geale and note it down

at whe end of item 12 on the answer sheet.



Q.13. Go to seat 13 and using PH pager p.ovided, measure ‘448
the P of +the solution in the test tube. Record the
value of PH at the end of ilexn 13 on the answer sheet

Q.1k, Go to seut 14 and pipette out 25.0 ml of Oxolic Acid
from the heaker in & conical flask. &dd 2~3~ drops of
phenolpthalein indicator to it and stirr. Titrate the
acid with sodium hydroxide solution in tite burette
untili & very fainl permanpant pink colouy is obteined,
The volume of sodium hydroxide solution used iss

Tick the corvect alteraati%e.
(a) 48.0 mi. (p) %48.% ml. (c) 49.0 m.
(a¢) &5.0 ml,

i

SHERT - B

QeiS. The Quelity of glass tubing for bending should be Tick
the correct aliternative.

(2) Pyred& glass (b) Corning glaess
(c) Soda glass {a) Nons 0% the above
Q.16. The Quality of chemicals used foxr the pregaration of

molar solution for volusetsric 4x2lysis sbouid Le.
Tick the corrvect alternative.

{8} Laborasory gquality (b) An:lar guality.

{¢} Local feck quality (1) Industrial quulity.
Qel7. The termperature at the time of boiling of 2 scolution

reuains Ticke the correct alternutive.

(a) Unchanged for @ lsong time.

(e, Changes very guickly.

{c} poes not change at all,

(d) None of the above,

QeiB.. The temperature at the time of weliing cf 8 substance
is B Tick the correct alternutive.



449

(2) When it starts changing into a Liguid.
(b) When it starts solidifyinge.
(e) Average of these two temperatures.

(d) None of the above,

Q.19+ Tick the correct position of a cork while it is
being bored,

‘ Q.20. Which of the following pieces of laboratory equipment

' would be best ©0 weasure 9.0 ml of liguid wmest Locurdtely
Tick the corvect altermative.

(a) 25 ml graduated cylinder.

(b) 10 ml graduated cylizfr

(¢) 25 ml graduated beakex,

(@) 190 ml pipette,

Ge214 Wnich of the Pictures represent the coryect method of
collecting oxygen gas. Tick the correct alvernative.




Q.22.

Gel35e

Qelhe

Q4S5

1+ 206,

Selubdly /\Q?/(‘mﬂ)

Phenolpthalein is &au indicator which is used in
volumeteric tfityations in cextain combindtion of ank 30
acid and an alkali, Tick the correct alternative.

{(a) Sitrong Acid against strong Base,
(b) Strong Acic against weak Base.
(¢c) TWeak Acid against Strong Base.
(&) Veak Acid againsi Weak Base,

When 250m1 of M/10 Oxalic acid is prepaved, the amount
of Oxalic acid to bc discolved is (The lolecular Weight
of Oxalic Acid = 1206). Wick the cowrcect alvernative.

(@) 3.153g () 3.50 g {e) 5.3t 2 (4) 5.43 ¢

9.30 g of Na 603 Gre dissclved in distilled water
anii the voluwe is made upto 250ml. The molority of
the solution is (Moiccular weight oOFf N CG = 106).

f&nh the c¢arrvect alterndtive.

() u/2 (B) M/10 {c) ufs (a) N/50

10 ml of M/20 iUCL solution reacts with 7.5 mi of
B2 OH selution couwpletely. The Molavity of NACGH
solutica is « Tick the corsrcel aiterrstive

(a) M/20 (b} M/i0 (el M/ (4) M/5
Examine the dacd velow ¢

Temperature (G°) o] 20| kol 60| 80400

Solubality of
Sygar in weter
£/100 ml.

170 | 290 | 230 | 280 | 360 | 480

¥hich graph bezst representis the relotionship betwee
semperature and soubalitv. Tick the correct dlteru ive.
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Q.a?‘

Q.28,

Q+29.

Qo:’)\)o

MéZhesium Ribben burns with dazzliing light in a gas
Jar contaiaing oxygen. Oxygen gas is 9 ‘ick the 451
correct «literautive,

(&) Supporier of combustion.

(b) Combustible gas.

(c) Non supportner of combustion.

(@) Non-combustiblc gas,

When &8 few nl of dilute salphuric scid are added to
a piece of gzinc, there is, Ticé the sorrect
zlvernaiive,

(a) Absoxption of heat

(v) Evoluticn of heat

(¢} There is ne cnange.

(@} done of the shove.

{

When & dilute solation of sulpburic acid is added
to & dilute solution of Baviuwm chalovide.A, change
take@ place. Tick the correct alterrotive.

~

{(a) No change takes place
{n) Theve is absorpiion of heit.,

(¢} A white substence is formed which settles down
at the ovottom.

{a) Nome of the 2bove.

A

£ biue litmus paper wien dipped in a test tube full of
solution, the blue lisuts popey vurns red. The solution,
ib,"ﬁick the correct alternstive,

(«) 4An alkali (b} Water (o} A Salt solution
{8) An wcid,



Q.31. While studying electrical conductivity of virious 452
sclutions, the glowing of the bulb ia thek&ecﬁrical
circuit wmeans thot the solution is § Tick the
cerrect alternative.

{a) An Elecctrolyte (8) A Noa=clecirolyte
(c; Pure water (i) wNone of the above,
ol

0.32., In gqualiiavive apralysis of 2 sipt, original solution
is pirevnwred hecauase 9 ﬁick the correet alterpative.
() It is eusier to test cations.
(b) It is difficuld 1o test cations.
{c, It is the only way to tcet cailoub.
(&) Nome of the above.
Ne33. While precipiteling ILIIrd group redicals ia qualitatvive

apalysis concentrated Nitric acid is added becausey
‘{ﬁck biae coryvect aliexnative.

{u) Wervous ious are oxidised to Fer:ic ioms.
{b) For the complete procipitation of Fe(oa)3
(¢) For oxidaiion of Ferrows iond utad also for
tie complete precipitation of Fe(GH)3
{3) None of the above.
Qe34%s When Diuethyal - glyoxime is addgd 1o a fresiply
prepared solution of 2 Wickle SAat, the cclour of

the precipitate i8 B Tick tue correct =iteindtive.
(z) Yellow

{4} Blue
{¢. Biown

{d) ¥Floculant Red.



Q+35. The hydrogen sulphide gas from a salt solution can
be removed by constant boiling until the vapours

turn lead acetate paper )‘&ick the correct alter~
native.

403

(a) Black (b) Not Black (c¢) Yellow (d) Red.

Q.36. While analysing salt solution, if the solution

becomes too acidic. The acidity can be removed
by ¢ Tick the correct alternative,

(a) By adding Ammonium hydroxide solution only.
(b) By adding more of acidic solution.

(¢) By adding any alkaline solution.

(@) None of the abave,

Q.37. Vhile apalysing & salt solution, if the solution
becomes too alkaline. The alkalnity of the solution
can be removed by : Tick the correct alternative,

(a) By adding any acidic solution.
(b) By adding gypsum (casoq.znzo)
(c) By adding solid sodium carbonate.

(d) None of the above.

Q.38. v¥vhile analysing a salt, flame test for & sodium
salﬁ)a colouration with naked eye : Tick thecorrect
alternative.

(a) Persistant golden yellow.
(b) Crimson Red.

(¢) Brick Red.

(a) Orange.

Q+39. While analysing a salt, charcoal cavity testfor & lead
salt shows & coloured mettalic bead 3 Tick the correct
alternutive, :

(a) Creyish white. (b) Shining white.
(¢c) Red Scales. (@) None of the above.



Q.40

Qskie

While analysing & cobalt salt, Borax-Bead test for 494
it shows colour in both the oxidising and reducting
flame, Tick the correct alaternative,

(2) Dpark green (b) Deep Blue (c) Reddish brown.

(@) Yellow :
belons amonlions ol

The table EX¥E-en-the =1 5 3 in twoA?czdlc
solutions and alkaline solutmons with their pH values
Tich out the styongest acidic and the strongest
alkaline solution.

TABLE - A : __WABLE - B
S.No. Acidic PR ' * S)‘IQOO é-]j{alin.e A .
Solution Solution.
1. 'Solution A 243 1. Solution E 9.4
2. Solution B 4.3 2. Solution F 8.3
%. Solution C 6.7 3. Solution G 10,2
4, Solution b 1.8 &, Solution. H 12.53

Q.&?..

An example of Cheaical Eguilibrium is glven by the
Chewmical yeaction.

By SCN7. »~ +
Fe“{aq) ~'§1—' (aq) Fe S/CItliqs

If excess of SCN ions wére added to the solation
one would except ¢ Wiek the coriect alternative

(a) fThe solution to hecome colourless,

(b) The solution to change to a precipitate

(¢) The colour of the solution to rewain unchanged.

(@) The colour of the solution to become yellow.
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